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Suggestions on listening comprehension activities are on p. Error! Bookmark not defined.. 

The authors suggest that instructors point out that in Russian, ʪʞʥʵʸ can refer to nothing more that a childless 
married couple, while in English ñfamilyò usually conjures up the notion of parents and children. 



 

The Dialogs are available to both students and teachers in the Textbook, Unit 1, pp. 236ï237. 

 

The word ʧʣʞʙʦʧʜʩʙʭ is likely to throw 
students off, even though it is a cognate. 
Instructors can help them out by 
pointing out the change of English ñsoftò 
c to Russian ʣ. 



7-9 ï 7-11: Answers may vary. 
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